DeviceNet (F/IN\L A%y M)

DeviceNet iZ. FA BT HIH#H A }\'7~7<‘: L
TREOTLY - 7FyF) =KX
1994 4EI2FFE SN F L7z, DeviceNet Bi5E 0)3’3\»
oy M= AR OB (=7 L) 12
DeviceNet il L7257 5 £ —ﬁ—@fiﬁ%ﬁﬁﬁf“@
HERM A=A —DOFFEHEAEE DO ETRIZL &
IEVHILDTT, TR TLY - TFv ) —
AL & oK ENS AR E 2 & < JE & E AR
ODVA(Open DeviceNet Venders Association) 7% 7. &
1. DeviceNet DA HED AL H ODVANBE S
N L7z, ODVAIZZNT 1L, DeviceNet DAk
FIR ST B 5132, DeviceNet (2B 3 % FrEifl:
oftEbTcE 4, BE HFTH 3004 L Eo
WA= —HREE%D, £ <D DeviceNet M
BahERINTWE S, B 12 DeviceNet 5 IH D
I A VAT LHE
WrEL T a7 g5
MI/O0a2=vh <~
VT T 0 Tz % &1
LT,

L FFFOIEER
(5 - M2BD)

DeviceNet D#IE

DeviceNet DFFEIE IV =R EE )
— ¥R ISO Btk (11898) ® CAN (Controller Area
Network) % -H L, €112 DeviceNet DY PEfE 1 &
OC7 7)) r—variEeMza GEERMZEmL T
WHREIZHD £ (B2ZH). LT, 2o DR
WZOWTHHEICHPIL £,

e CAN

BOSCH #t () 25HL#H > LAN & L CHi%§ L 7z

FE7a Fa )T, HN—F ADEKER L S A H
(1S0) (TINAZAZYR)
FIVr—avBETRI{(| 77V =3V E V77U —a vtk
7"—&'}‘/7%(%2]5){ T—RIUE CAN 700 h LA
nﬂﬁﬁﬂfﬂl
%IEE(%HE){ RECS e }7/\
BB (EO0R) { {EIREE BiEE J:O%IEE{:H%

B2 FNAAxybhOZ7ORIIE ISO EIEDRTLL

HeLTwEd, AL W) L2 ORE - &/
A ZABRBREN, SHSEE R E LTwE T,
° IE/E

NI IAY/ Fuy TSIy BTV
Fx— Y KRGO Bus #Fe T 1 DDA v h T —
7Rk 64— FETHERTE T, 3FEHD
HERELBINCTE, @ERHEICL>TTr—7 VD
WIEESR2 ) TT (R3S, 77— 7 V5L
BEDO2O0V A4 A NTAXTHESIN., F5LE
Bam—%Nr—7 VTG L E 3. $720 247

Z AN = ¥
Y ORR T AV HEOBLHE L T, iRAMH % B
IELTwET,
NZ>y Evh | 4=l ROYTS1>DRE
T=7N0O@E| L—b | RER [X BROVY) [RA (FROVT7AED)
125k 500m 6m 156m
Aor—7I 250k 200m 6m 78m
500k 100m 6m 39m
125k
=T —2 250k 100m 6m 39m
500k

K3 NABREBERE /T—7IHRER

e 77 )r—avE

DeviceNet TiZ.CAN Oifg 71 b I )V T 7 —
Ty FOZRBEITAE T, T8y M
BEERNEAL 252 B, [W—% v b7 — 27 Lo
CEI)VYTCETLIENTETY, T2 TSR
HUET, /= FU72 0 ofldH D A,

T YO T B L A ISR O E O
SNTTNAATaA T 74V EW) A TERS R
TWEd, 72&zIE 7Ha/E701/0 €Y a—
WH, A v NN=F L wos 2B TN, A 71
TTANVHPERINTVEDIT T, TOTINA A
TUaT7 7 ANICE ST, B b X — 0 — OEFEE
MToREEZFER L CWET,

(BEX@) wARwES [EFHIE Vol. 56
[(B) T2 - ¥ AF A5G ¥ A F A5 5]

MS TODAY 2000 4F 1 H=




